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Aufgabe 1

Berechne und kiirze das Ergebnis soweit wie moglich.

o0 7 2 59 64 82 37 12
A I 15 b) 47 83 )51 10 )75 19

44 16 14 48 44 16 N b5 14
Hi3 7% 8675 h) 31 - 19 )31 83
Aufgabe 2
Berechne und kiirze das Ergebnis soweit wie moglich.

6. 1 5 2 2 2 15 1
a) 779 b) 713 )7 11 4333

8 21 17 3 5 2 N 21 3
B2 8) 21" 25 h) o1 -3 i) 95 35
Aufgabe 3
Berechne und kiirze das Ergebnis soweit wie moglich.

9 13 9 3 19 1 39 7
DR b) 10 8 )33 ™ )31

9 15 37 28 5 45 N 2309
1911 81T h) 11 - 17 ) 31 16
Aufgabe 4
Berechne und kiirze das Ergebnis soweit wie moglich.

2 7 1 94 5 38 1

1 4 8 13 23 1 1
Viel Erfolg!
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